1/0 do/dN,

Ratio to ATLAS

=

1071

[EEY

0.5

eV

[ TTTTH

900G

bb_

ATLAS

--3-- Herwig 7.2.0 default
—a— Pythia 8.212 default

B
Charged multiplicity(NCh >6,p_>0.5GeV)

Soft QC

| || HH

IRERTT IR
mcplots.cern.ch [arXiv:1306.3436]

| | |||||||
Rivet 3.1.0, = 5.5M events

----- ¢ Sherpa 2.1.1 default
,: | | | 1 [ | | 1 [ | 1 | | L 1 [ | ‘_|‘
: T T | T T T T | T T " T | T T T T | T T T T i
— (2 -
— K -2
I ’." —
— KJ ]
L K _]
— * _
. X _
B g _
N x 11
=] E - A _|
— ¢ ‘.Q.Q-Q" _|
I - —
— —0.5
| | | & | |
1 1 " " 1 1 " 1 1 " 1 1 1 1 " " ? 1 1 1 " " 1 1 1 1
10 20 30 40 50



	Contents
	Page 1


